60
MIN

D

\W.

Ll
=
<
o
LL
Z
O
i




IRON FRAME

J10

M8x20

x4

J11 M8x25

J12

J13

M6x30

x4

J14

x1

|

30

20

\'|”|||”||”'i””l””l””l””l

240 H

230 A

220

210 H

200

190

180

170

160

150 -

140

130 -

120 -

110

100

90

80

70

60 -

50

|||||i||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||| s




IRON FRAME

Colli 1/1: @20«© 0020 @«

3




M6x40

J14

x8

M6

J2




o
F
X
[ce)
=

X2

X6

fe}
q
<
©
=

M6x40

x16

o
9]
X
©
=

x4







1

X

x20

NH




J10 M8x20

|On

X6

UA

YBATA: MEPLUE CTUCKAHHA NIUOMHOIO MEXAHI3MY
MPOBOONTI Y 3IBPAHOMY BUITIALI, OBOB*A3KOBO 3
MATPALIOM 13 MPUKITAOAHHAM 3YCUITNA.

EN

ATTENTION: THE FIRST COMPRESSION OF THE LIFTING
MECHANISM SHOULD BE CARRIED OUT IN THE ASSEMBLED
APPEARANCE, WITH THE MATTRESS AND APPLIED EFFORT.




